
SECTION A-A

SCALE 1 / 2.25

A

A

1

1

2

2

3

3

4

4

A A

B B

C C

D D

SHEET 1  OF 1 

DRAWN

CHECKED

QA

MFG

APPROVED

EAS

EAS

EAS

EAS

7/21/2016

7/21/2016

7/21/2016

7/21/2016

DWG NO

2356

TITLE

Model 1020-RAB Customer Print

SIZE

C

SCALE

REV

3

TOLERANCE:            .0 = +/- .030

                               .00 = +/- .015

                              .000 = +/- .005      

Oberon, Inc. - 1315 S. Allen St. - State College, PA 16801

REVISION HISTORY

ZONE REV DESCRIPTION DATE APPROVED

All 1 Released

1/22/2015

EAS

All 2

Updated Right 

angle bracket

7/22/2016

EAS

All 3

Updated Added 

Standoffs and 

updated bracket 

size

12/28/2016

EAS

10.78

9.06

4.53

NOTE:

- Material:

  Base and Cover: Gray Textured UL94-V0 Polycarbonate

  Right Angle Bracket: Gray Powdercoat 10 Ga. Steel

  T-Bar Bracket: Gray Powdercoat 18 Ga. Steel

- Includes:

  Oberon Model 1020 Base and Lid (1)

  Right Angle Bracket (1)

  T-Bar Bracket (1)

  Nylon Spacer (2)

  #6 x 7/8" Screw (2)

  #6 x 1/4" Screw (4)

  M4 x 20 mm Lid Screw (4)

  M4 x 10 mm Bracket Screw (4)

  4 mm Lock Washer (4)

  10 mm Hex Standoff (4)  

  Installation Instructions (1)

- Mounts most access points with integrated

  antennas using Oberon's universal "T-Bar"

  mount

- Weight: 5 lbs

T-Bar Bracket

Shown with Standoffs

7.39

4.00 Wall Mounts


